3. L'HOSPITALOVO PRAVILO

3.1. lIzralunajte sljedece limese:

x4+ 2x* 4+ 3x2
(a) lim —————

x—0 —X5 — 7X2
I
(b) lim —=
x—0+ ctg x
t
(€) lim 2%
x—3 tg bx
| _
(d) fim Mx=3)
x—a+ In(eX — e?)
In x
an*—1
i
(e) A Inx

() lim Vhx —1—+4x+1
=2 \/3x =2 —/x+2
(g) lim sin 3x
x>0 /X +2—x—+2
arcsin v/sin x

x=0+  /2x — x2
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3.2. lzralunajte sljedece limese:
(a) )I(TO In(1 —sinx) - ctg x
(b) lim (1 —sinx)-tgx
x— 7

. 1
(c) XILngox ex —1

(d) lim InxIn(x —1)

x—1+

3.3. lIzralunajte sljedece limese:

(a) lim (1 —ctgx)

x—0 \ X

(b) Jim, <>1< - exl— 1>
@ im (575
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3.4. lIzralunajte sljedece limese:
. . tg x
a) lim (sinx
( ) x—>0+( )

(b) lim x*
x—0+
. 1—x
(© i ()
) .
(d) lim (arcsinx)
x—1— \ 7

1
x

2
(e) lim <arccosx>
x—0 \ 7T
] 1 tg x
(f) xl—l>n8+ <X>
1

(g) lim (sinx)esx

x
x—=Z

o Jm, ()

o=
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3.5. lzralunajte
1
e— (1 x
lim M
x—0+ X

3.6. lzralunajte
. L4 tgx —tgl
| 2 tgox _ o7 PS-
dmy |2=) <1

3.7. lzralunajte
. X —SIn X
lim ———.
x—00 X 4+ SIin X

3.8. lIzralunajte
i x2sin%
lim ———=.
x—0 SIn X
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3.4.

3.5.
3.6.
3.7.
3.8.

(a) 1
(b) 1
(c) 1
(d) 0
(e) e =
()1
(g) 1
(h) 2=
g

e — o
1

0
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